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6a (57797 R58) 2 7b (85 7y INY)

NY? 1513, we note that the 771 presented a general statement about naw maxnsp and then provided one instance (v. 2 below).
This led jnsy *7to maintain that 8y’ p5n% mwan— just as 171v1a7is a specific 71985p for which there is a nxvn arn, so each of
the 39 n1on5p carries an independent nxvn arn. oy 1 disagrees and holds that nNY? NS5 119271 — to wit, only 737 is
excepted from nxvn arnand is a “simple” N5,

Note #2: the execution of 7977% involves the 19850 of 5123, not just 717
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L Continuation of search for need for n9y; base assumption — 113 My YW N9 AMT NYY
a. Attempted proof from v. 1 (from yesterday’s 1w) — no need to teach that mxn 7wan isn’t nmT
b. »mnaw is needed to teach focus of wTpn 8 (from 'n, not W)
i. WTpn RN - not entering inappropriately, not using as a shortcut etc. — even r"nnra

c. attempted proof from v. 2 (using vv. 3-5) — that 7”2 nrn>n isn’t naw nmT (cf. notes)
i. attempt comes not from n»n1, rather via vp involving nmay (v. 6)
d. rejection of the entire line of thinking:

i. instead of looking for a base assumption of n13 My YW N AMT NYY,
ii. we should look for a reason to think that N7y ™o'R were “loosened” vis-a-vis ma»:

1. suggestion: using rule of ...99321 7PnW 127 Y3 (v. 7), note that the N7y of Nk NVR was
“loosened” in the case of ma»” = R¥ 1913 Y5910 %Y 1YY, Hence, we need n?Yy to block
that line of reasoning.

2. rejection: the rule only applies when the 593 is 1yoR and the v1a defines parameters of
the 1'R; regarding Nk nWR, the V12 is a NN

3. rather: this case falls under the rubric of
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b. you cannot restore it to the 953 until explicitly directed to do so

c.  example: v. 8 — since the y71¥n DWR is unique (MnN21 N7 1NN), I would not
know to apply onT 1nn on the altar without the key phrase in v. 8

d. similarly: we would have thought that only nk nwx stands to D27, not other
my —so other My are still excluded, without n9y
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